UNIX 3 Mg

11A&F H= — awk (2)

SEsfofey B ofUFEID Y



uro|o

END Iy E 0 A] &

NI
» O OO Z o} =

[kgu@lily chll_awk]$ cat awk.scl
# awk script using pipe

BEGIN{

printf "%-22s%s\n", "NAME", "DISTRICT"

print M---------mm
ks

/west/ {count++}

Rl

@ NAME

{printf “%-10s %-10s %-15s\n”, $3, $4, $1 |

"sort -k

17}

END{
close W 'sort -k 1"
print M---mmmm e
printf "The number of sales persons in Western
printf "region is " count ".\n"

}

[kgu@lily chll_awk]$ gawk -f awk.scl datafile

DISTRICT

AM

Ann
Charles
Lewis
Margot
Patrick
Sharon

" Suan

B

Main
Stephens
Main
Dalsase
Weber
Hemenway
Gray
Chin
Savage

northeast
central
northwest
southwest
north
southeast
western
southern
eastern

The number of sales persons in Western region

is 3.
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o SO M= =X, SO M= ifS
QA BAISHOF &
if (=AAD { @[kgu@ﬂﬂy chll_awk]$ gawk '{if ($8 > 20) print $1 " Too High

X "; else print "Range is OK!"}' datafile
northwest Too High
western Too High

[——

Range 1is OK!

(if (24 { o
o ox ange is OK!

}'_ e Range is OK!

' I

else if (R4 { iange e gi;
Ja— ange is OK!

}'_ o= Range is OK!

Range 1is OK!

else {
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while
> ALE 0O

@ [kgu@lily chll_awk]$ gawk '{i = 1; while (i <= NF) {print NF, $1; i++; }}'
datafile

for
> A& O

(:::) [kgu@lily chll_awk]$ gawk '{for (i = 1; i <= NF; i++) print NF, $i }' datafile

HE 2 XN : break, continue

- —/ L=
(::) [kgu@lily chll_awk]$ cat awk.sc2

{ for ( x = 3; x <= NF; x++)
if ( $x < 0 ) { print "Bottomed out!"; |break|}
# break for loop

ks
{ for ( x = 3; x <= NF; x++)
if ($x == 0) { print "Get Next item"; [continue|}

}
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Associative array : B & & X0 s=X}L}
=AE B 5 A8 7ts
FPHIE HXLE 7|2, slig] E0EE NE

[kgu@lily chll_awk]$ gawk '{name[x++] = $2}; END {for(i=0; i < NR; i++) print 1,
name[i]}' employees

0 Jones

1 Adams

2 Chang

3 Black

[kgu@lily chll_awk]$ cat awk.sc3
/tom/ {count["tom"]++}

/mary/ {count["mary"]++}
END {print "There are " count["tom"] " Toms and " count["mary"] " Marys in the file." }

[kgu@lily chll_awk]$ gawk -f awk.sc3 datafile2
There are 2 Toms and 4 Marys in the file.
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HHE (2)

S for =&

{ for (O}O| & in HIEH) {
print Hij & H[O}O] &]
}
}
[kgu@lily chll_awk]$ gawk '/Atom/{name[NR]=$1}; END {for (i = 1; i <= NR; 1i++) {print
name[i]}}' datafile?2
tom

tom

[kgu@lily chll_awk]$ gawk '/Atom/{name[NR]=$1}; END {for (i in name) {print name[i]}}'
datafile2 —_—
tom
tom
@ [kgu@lily chll_awk]$ gawk '{count[$2]++} END{for (name in count) print name, count[name]}'
employees
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split (2A+<, Y

cC
—_—

split (XAFE, B €)

@ [kgu@lily chll_awk]$ gawk 'BEGIN { split("3/15/2013". date. "/"); print "The month is "
date[1l] " and the year is " date[3];}' employees

The month is 3 and the year 1is 2013
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>

NIX=1,
O a0

gawk L}

AL
T
sub, gsub

sub (B EAHA,
sub (BHHEHA,

X|gh2 X});
K| gh2 X, =X,

1

©

[kgu@lily chll_awk]$ gawk '{sub (/Mac/, "Macintosh"); print}' testfile
[kgu@lily chll_awk]$ gawk '{sub (/Mac/, "Macintosh", $1); print}' testfile

Index

index (2AtE, 22 &XAt<E)

©

[kgu@lily chll_awk]$ gawk '{print index('"Hello", "110")}' testfile
3

» substr

substr ( 2XtE, A|ZHQ|X]);
substr ( 2XAHE, AZQX], 2XILZ0]);

I

©

[kgu@lily chll_awk]$ gawk '{ print substr("Santa Claus", 7, 6) }' testfile
Claus

SE3fofr 3y

of
(<]

YFEI DY



gawk LWF th=grs

atan2(x, y)

Ccos(X)

exp(x)

INt(x)

log(x)

rand(x) : 0 < r < 1 AFO| L=
SIN(X)

sqrt(x)

srand(x) : rand()S |} seed
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A8 X 89 g (2)

‘m[kgumﬂy chll_awk]$ cat awk.sc4

function my_sort ( scores, num_elements, temp, i, j ) {
# temp, i, j will be Tocal
for (i =2; i <= num_elements; i++) {
for (j = i; scores[j-1] > scores[j]; j--) {
temp = scores[j]
scores[j] = scores[j-1]
scores[j-1] = temp

}
}
}
{
for (i = 1; i <= NF; 1++)
grades[i] = $i
my_sort(grades, NF) # only two arguments are passed
for (j = 1; j <= NF; j++)
printf ("%d ", grades[j])
printf("\n")
}
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(awkel 2= 72| E| ALE)

last & ZAnt (last e Xtol = olst BlA =
/var/Iog/w?mp—ZOlSOSZZ) (1r0<?)7<4r) FEO0let sl =5

AFERHE R RISt AIZHS 25
SHASH Y, Al £ BASE

[kgu@lily chll awk]$ last -f /var/log/wtmp-20150522 (300 E-I)

. . o = - o
> still logged in9| &2 & 4AISHX| GI&
khy4701 pts/13 203.232.252.176 Fri Apr 3 09:14 - 10:47 (01:33)
whohdfol pts/12 203.232.252.174 Fri Apr 3 09:14 - 10:21 (01:07) |._Q_ |.|:|=| XEA |7 | | ol
winter56 pts/11 203.232.252.138 Fri Apr 3 09:13 - 10:49 (01:35) A o X EE — blA I_l-O x =
winter56 pts/10 203.232.252.138 Fri Apr 3 09:13 - 10:49 (01:35) XFOI'L__ 7:' (@) |_ _” Ol ZIAH L= 7;| (@)
leegumog pts/9 203.232.252.175 Fri Apr 3 09:12 - 10:45 (01:33) — AA Ij O T 9 X = =2 AL O]
leegumog pts/8 203.232.252.175 Fri Apr 3 09:12 - 10:41 (01:29) =5 E:l 3OOX-|
t1dhs222 pts/7 203.232.252.177 Fri Apr 3 09:10 - 10:49 (01:38) = | ( |:|)
kimgarch pts/6 203.232.252.134 Fri Apr 3 09:05 - 10:45 (01:40) o
abc3187 pts/5 203.232.252.140 Fri Apr 3 09:03 - 10:41 (01:37) I|-0'|A| 7|- o|-7;”§ 7|_7F_ o E
abc3187 pts/3 203.232.252.140 Fri Apr 3 09:03 - 10:41 (01:37) 1 d - Hd = = —
abc3187 pts/2 203.232.252.140 Fri Apr 3 09:00 - 10:41 (01:40) = -'-H _I T Al O =< 39

o =0 AN B o —|—E = 7
wtmp-20150522 begins Fri Apr 3 09:00:59 2015 (300I—|)

d
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